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Homemwork Asl OI ..o Homem.ork diie Ldau O ...
How m.aniy ;O’;ﬁ Lthese number sentences LON MO
answer in |5 minuwtes?

To help you, iyou could wae a numbler line, or somse

counting ohj ectas.

|+ L4 q 0
2 + | 8 b
L + 3 / 0
L + 3 8 l
3 + 5 6 5
L+ | 3 4
5 + 3 8 2
3 + 3 6 0
3 + 4 q 3
| + 3 = 6 - 0 =
2 + 5 = q 3
|+ 9 l
L + 5 6 2
5 + 4 6 A
2 + 3 7 5
2 + 5 8 |
2 + 4 8 3
3 + 3 6 0
5 + 5 7 L
5 + 5 6 5
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Homework Agl O ... Homew.ork dare LI OIl. ...
How m.aniyg of these numhbher sentences LCAON MO
ansawer in 15 minutes?

To help you, you could wse a numhler Line, or some

counting ohjects.

7 - 3 = L + 3 =
q - 2 = 5 + 4 =
- | = 2 + L =
7 - L = 3+ | =
7 - L = L+ | =
8 - 4 = 3 + 3 =
6 - 2 = 2 + 5 =
7 - 0 = | + 5 =
6 - | = 5 + 2 =
6 - 2 = |+ 2 =
7 - 3 = 5 + 5 =
6 - 5 = 2 + | =
6 - 2 = L + 3 =
q - 5 = 2 + | =
6 - 2 = 3 + 5 =
8§ - 2 = 5 + 3 =
;7 - 0 = [+ 4L =
7 - &6 = | + 5 =
q - 5 = L + 3 =
q - 4L = 2 + 3 =
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Date ..

LO N,u,,mbpr/s Lo [00 - ML&&M&M@%WM

You need to count Zﬁﬂf}\mard/s, and hackwards in ones to

fill the missing niamhers i,

61

69

76

25

31

40

41

54

29

46

66

74
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You need to count gﬂrw)a,rdﬁ and backwards in ones Lo

Jill the missing namhers in.

64 72

79

50

65

56

71

41

36

53

23

31
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..Maths Homework
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Basic Maths
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0 £9 = 0l 19 =

0c g% = 0z 84 =

gge b/l = 0 L9 =

0t gZ = 0 % =
0c¢ - 59 Gl - LY
o + 1 0€ + Wl
0c¢ + LS Q€ + 4
0c + c9 Of + ¢l
0z - IS 0% - g/

0¢ L = Ol Sl =

o b = ac £9 =

0 59 = Ol £9 =

ci Zl = £l S¢ =

1 L = Zl Ll =

gl Ll = %l g9 =

gl bt = i g =

H Ll = 1y £l = L]
I + Y £l + Ll
gi + LS Il + 05
41 + 19 Zl + b{
5l + b% H + £
#l + 2 | + ¢

0¢ + S5l =
4 - b9 =
0 - 9¢ =
0c  + 9 =
Bl = 0% - 9L
= 0 + ?
= Ol + ?
= ol 8/
I 0 ) lmOj
o% + b+ =
0 - LL =
0c - €L =
gl + 9L =
gi + 1Y =
Zi + Zs =
I + 9 =
£l + 9c =
B
= 1 + 8L
= 71 + bl
= 71 + I
U = c! + A
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